Obliczenia Statyczne  dla pokrycia dachu
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deska 2,2 cm

—
drewno Xd = 0577 C18  rozcigganie: 0,6[kN/cm?]
b= 100fcm] h=2Jcm]
A=220[cm?] m=13.2[kg]
xc = 50/cm] ye=11fcm]
Jx = 88.7[cm?] Ty = 183329[cm?]
ix=0,6/cm] iy =289[cm]
1145 = 20.4[cm] 12.45 = 20.4[cm]
Wx = 80.7[cm’] Wy = 3666,6[cm?]
Mx = 0.5[kNm] My = 23.3[kNm]
klasa drewna c18
Sciskanie [kN/cm?] 104
rozcigganie [kN/cm? 0,63
modulE [kN/cm?] 600
l P=08
q 2,9/kN/nP]
" qx*? + Pxl
i 2 =
max 8 4

1=06%1,05=063

My = 0,27 [kNm] < 0,5 [kNm]

na warstwe nosna pokrycia dachowego zastosowac deskowanie gr. 2,2 cm




